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D O mg, L 0.5 2 1 <0.5 2.0~7.5
BOD mg, L 0.5 2 1 <0.5 1~10
£ | COD (i) mg,/L 0.5 2 1 <0.5 1~8.0
W[ S S mg,L 2 B <1 1~100
- IN I CFU/100mL 1 2 LR | 20~1, 000
B [ n~¥p e mg, L 0.5 2 1 ND B Sz E(0.5)
H | %k mg,/ L 0. 05 2 2 <0. 05 0.1~1
H2va mg,L 0. 003 2 3 <0. 003 0. 005~0. 1
) mg,L 0. 001 2 3 <0.001 0.01~0. 03
) =)V )—)L mg, L 0. 00006 2 5 <0. 00006 0. 0006~0. 002
LAS mg,/ L 0. 0006 2 4 <0. 0006 0. 006~0. 05
H R L mg, L 0. 0005 2 4 <0. 0005 0.003 LL I
BTV mg,/L 0.1 2 1 ND B Sz L (0.1)
£ mg, L 0. 005 2 3 <0. 005 0.01 LLF
I AN mg,/L 0.01 2 2 <0.01 0.02 LLF
[ES mg, L 0. 005 2 3 <0. 005 0.01 LF
FAak 8 mg, L 0. 0005 2 4 <0. 0005 0.0005 LLF
7L LK ER mg, L 0. 0005 2 4 ND R & Zpun 2 & (0. 0005)
PCB mg, L 0. 0005 2 4 ND R & Zpun 2 & (0. 0005)
Craa AR mg, L 0. 002 2 3 <0. 002 0.02 L' F
LR leES mg,L 0. 0002 2 4 <0. 0002 0. 00201 F
1,2 Junzhy mg, L 0. 0004 2 4 <0. 0004 0. 004LL F
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F175 A mg, L 0. 0006 2 4 <0. 0006 0. 006LL F
ey mg, L 0. 0003 2 4 <0. 0003 0.003LL F
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7 nEy Junphy AR RN RE mg,/ L 0.001 2 3 <0. 001 -
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7" nERVAE R AR mg,/ L 0. 001 2 3 <0.001 —
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SvxLevsanerre | me /L | 0.004 2 3 20. 004 0. 0404 F
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13 | 013 |7y 7 v—Ayva I Y=y v13 48 | 104 [fze~yya ') It 4
14 | 014 |E 9 7= 1)y v 14 49 | 106 |74b Aoy’ It 6
15 015 [t yh 77 0= 7=y v 15 50 108 (74} fxm— 1t 8
16 016 [t yb 77 )=zyya 77— v 16 51 110 (74} fzo=)" )=y 1t10
17 | 017 |E7 e yh 77— v 17 52 112 [74b 77 )= 1t12
18 018 [t "t 9 77— v 18 53 114 (74N 77 W=7 )=y 1t14
19 | 019 |7 e yb N =7 Uyya 77 - v 19 54 | 116 |74} 77 )==yva 7= (07 )=2yva AA) 1t16
20 | 020 [ETET9b A AAVyh v 20 55 | 118 |74} 77— 1t18
21 | 021 [L7ETyk 7T hAyva N =TT v2l 56 | 120 (74} N AAVYL 1t20
22 | 022 [t e yb N =T v 22 57 | 122 [74h N =T W 1t22
23 | 023 [LTETyb Vi quva N =TT v23 58 | 124 [N =7 yva £V 1t24
24 | 024 |ETETyN okt N =T v 24 59 132 [t"v7 Tt2+
25 | 030 [K04h W 60 | 134 [fzo—fyya t" ) Tt4+
26 | 031 [74h 774 Gy-8.5 | 61 | 136 |74} Avwv” 1t6+
27 | 032 [74h "4 Gy-7.5 | 62 | 138 |74} Afxn- 18+
28 | 033 [}F4Th 1WA Gy-6.5 | 63 | 140 [} fzo-p" Y-V It10+
29 | 034 [A7747h J7VA Gy=5.5 64 | 142 [} 1)V Tt12+
30 | 035 (AT VA Gy-4.5 | 65 | 144 |34} 7 w-0" 0= It14+
31 | 036 (4= 1WA Gy-3.5 | 66 | 146 |34} 77 V—=yva 70— It16+
32 | 037 (=1 1o Gy-2.5 | 67 | 148 |74} 70— It18+
33 | 038 |79y Bk 68 | 150 (74} N AAVyL 1t20+
34 | 040 [7779=yva K04} 5w 69 | 162 [74h N =T W 1t22+
35 041 [N =2 V4 (AN 7 I0=va VL) 5gy 70 154 N =7"Dyva £ V) 1t24+
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71 | 162 [J7h t ) sf2 106 | 224 |77 4-7" N =7 Vyya V) b24
72 164 [V7h fzn—fyva " V) sf4 107 | 232 |xbwvs” byl s2
73 | 166 [27h Avov” st6 108 | 234 (Abuy)" VF gyva dbuy s4
74 | 168 [J7}b fzm- S8 109 | 236 |Abevs” fzo—fyya Avy” s6
75 | 170 [J7b fze-pT Y-y sf10 110 | 238 |Abwyy" Afxo- S8
76 172 J7b 77 )=y sf12 111 | 240 [Abwys” Afzn—)" )=y s10
77 | 174 [97h Tty sf14 112 | 242 |xbuys™ )7 Y=y s12
78 176 |7+ 77 ) ==yva 77 = sf16 113 | 244 |Abevs 7 0=0" Y=y sl4
79 | 178 [J7h 77w sf18 114 | 246 |Abwys™ 77 V==yya 770 s16
80 | 180 |V7b A AALyb sf20 115 | 248 |abnvy™ 77— s18
81 | 182 [V7h N =7"w sf22 116 | 250 |[Abny2™ N fdUyh $20
82 | 184 [J7h N =7 Yyva b V) sf24 117 | 252 |Abevy™ N =77 $22
83 | 201 |7 47t b 1 118 | 254 [Abuys™ Vyb A =77 s24
84 | 202 |7 47t b 2 119 | 301 [F74=7" ~N =7 Vyva byb dp 1
85 | 203 |AhnysT fxn—fyva b’V b 3 120 | 302 |77 4-7" Ly} dp 2
86 | 204 |7°7AF VT 4yva ALY b 4 121 | 303 |77 4-7" Aze—fyya by}’ dp 3
87 | 205 |7794b AV b 5 122 | 304 |7 47" Vi qyva Avuy dp 4
88 | 206 |77 74b fzu—fyya Ay b 6 123 | 305 |77 4-7" #Avsv° dp 5
89 | 207 |7°74b VI qy¥a fxn- b 7 124 | 306 |77 79=yva a7 =wp dp 6
90 | 208 |7°94}b fxn- b 8 125 | 307 |27 -wb" dp 7
91 | 209 |7°94F )7 Y-=y¥a fzp- b9 126 | 308 |77 4=7" Azm- dp 8
92 | 210 |77} fzr=)7 )=y b10 127 | 309 |#)-7" fzn- dp 9
93 | 211 |77 Azn—~Ay¥a )7 )y b1l 128 | 310 |77 4=7" Azm= )" )-v dp10
94 | 212 |7°94b 77V b12 129 | 311 |77 4=7" Azo~fyya )7 )=/ dpl1
95 | 213 |77} 7 vAyva I Y=y b13 130 | 312 |77 4-7" 1) dp12
96 | 214 |773N 7Ty bl4 131 | 313 |77 4=7" 7 w—~Ayya )7V dp13
97 | 215 |77 7=y b15 132 | 314 |77 47" 7= 07 )=y dpl4
98 | 216 |77 74b I )=zyva 7T b16 133 | 315 |77 4=7" 7= ") dp15
99 | 217 |7°94b 77w b17 134 | 316 |7 47" 77 U==y¥a 7 - dp16
100 | 218 |7794} 70— b18 135 | 317 |57 4-7" 77— dp17
101 | 219 [77°74h N =7 Vyva 770 b19 136 | 318 |77 47" 7 0~ dp18
102 | 220 |7794b N AAVyh b20 137 | 319 |77 4=7" ~ =7 Vyya 7 - dp19
103 | 221 (7794 7 h~Ayva N =7 W b21 138 | 320 |77 4=7" A Adbyb dp20
104 | 222 |7°94h N =70 b22 139 | 321 |7 4=7" N =7 W dp21
105 | 223 |77 4=7" N =7 Jyva ') b23 140 | 322 |7 4-7" N =T W dp22
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141 | 323 |7 47 Wb N =T W dp23 176 | 550 |~ =h N AFVy b (N - AR ) p20+
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146 | 408 [4)-7 dk 8 181 | 606 |~ =¥ ltg 6
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148 | 412 (§"=1 1 )=V dk12 183 | 610 |7 VAyya fxn= )7 )=y 1tgl0
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156 | 504 |~ = fzn—fyya b2 p 4 191 | 702 |3 w vy d2
157 | 506 [~ =p A=y p 6 192 | 704 |77y d 4
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159 | 510 [~ = fzn— ) )=y pl10 194 | 708 |§" W fzm- ds
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168 | 534 [~ —=b fzn—fyya b V) pd+ 203 | 802 |/ WAyva Wyb g2
169 | 536 A =b A=Y p6+ 204 | 804 |/ WAyva 773UV g4
170 | 538 |~ -W fzo- p8+ 205 | 806 |/ VAyya 777y g6
171 | 540 [~ =W fzo—) )=y pl0+ 206 | 808 |/ WAyva #)-7 g8
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173 | 544 [N = 7 v—fyya I )=y pld+ 208 | 812 |/ Wqyya 47 )-y gl12
174 | 546 [N = 77 )==yva 7 0= (N =l J7)==9va AA) pl6+ 209 | 814 |/ Wqyva 77 )=y gl4
175 | 548 [N =W 7 W= (N =b 2h4) pl8+ 210 | 816 |/ Wfyva 7 W= g16
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213 | 822 |/ WAyya N =T N g22
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221 | 914 |J =00 Wyva )T )=y dkg14
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224 | 920 |F7 =00 UAyva N ARV b dkg20
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